


 
 
 --- Task A --- 
 
 --- Solution 48-000000-34206-robo16_031-robo16_031-20160416153047.cpp --- 
#include <iostream> 
#include <vector> 
#include <utility> 
#include <set> 
 
int h, w; 
std::vector<char> field; 
 
 
int num(int x, int y){ 
  return x + y*w; 
} 
 
char get(int x, int y){ 
  if(x < 0 or x >= w)return 'b'; 
  if(y < 0 or y >= h)return 'b'; 
 
  return field[num(x, y)]; 
} 
 
std::vector<char> gen_algorm(int x, int y, std::set<std::pair<int, int>> was){ 
  was.insert({x, y}); 
  std::vector<char> some; 
  bool first = true; 
  if(get(x, y + 1) == '.' and !was.count({x, y + 1})){ 
    std::vector<char> some_now=gen_algorm(x, y + 1, was); 
    if(some_now.size() != 0){ 
      some_now.push_back('U'); 
      if(first or some.size() > some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  if(get(x, y - 1) == '.' and !was.count({x, y - 1})){ 
    std::vector<char> some_now=gen_algorm(x, y - 1, was); 
    if(some_now.size() != 0){ 
      some_now.push_back('D'); 
      if(first or some.size() > some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  if(get(x + 1, y) == '.' and !was.count({x + 1, y})){ 
    std::vector<char> some_now=gen_algorm(x + 1, y, was); 
    if(some_now.size() != 0){ 
      some_now.push_back('R'); 
      if(first or some.size() > some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  if(get(x - 1, y) == '.' and !was.count({x - 1, y})){ 
    std::vector<char> some_now=gen_algorm(x - 1, y, was); 
    if(some_now.size() != 0){ 
      some_now.push_back('L'); 
      if(first or some.size() > some_now.size()){ 
        first = false; 
        some = some_now; 
      } 



    } 
  } 
  if(some.size() != 0)return some; 
  if(get(x, y + 1) == 'E'){ 
    some.push_back('U'); 
    return some; 
  } 
  if(get(x, y - 1) == 'E'){ 
    some.push_back('D'); 
    return some; 
  } 
  if(get(x + 1, y) == 'E'){ 
    some.push_back('R'); 
    return some; 
  } 
  if(get(x - 1, y) == 'E'){ 
    some.push_back('L'); 
    return some; 
  } 
  return some; 
} 
 
std::pair<int, int> find_robot(){ 
  for(int y = 0; y < h; y++){ 
    for(int x = 0; x < w; x++){ 
      //std::cout << x << " "<< y << " " << field[num(x, y)] << std::endl; 
      if(field[num(x, y)] == '@')return {x, y}; 
    } 
  } 
  return {-1, -1}; 
} 
 
 
int main(){ 
 
  std::cin >> w >> h; 
 
  std::vector<char> fd; 
 
  for(int i =0;i < w*h; i++){ 
    char now; 
    std::cin >> now; 
    fd.push_back(now); 
  } 
  for(int y = h - 1; y >= 0; y--){ 
    for(int x = 0; x < w; x++){ 
      field.push_back(fd[num(x, y)]); 
    } 
  } 
 
 
  std::pair<int, int> now_map = find_robot(); 
  //std::cout << now_map.first << " " << now_map.second << std::endl; 
  std::set<std::pair<int, int>> was; 
  auto commands = gen_algorm(now_map.first, now_map.second, was); 
 
  for(int i = commands.size() - 1; i >= 0; i--){ 
    std::cout << commands[i]; 
  } 
  std::cout << std::endl; 
} 
 
 
 --- Solution 48-000001-34206-robo16_031-robo16_031-20160416153232.cpp --- 
#include <iostream> 
#include <vector> 
#include <utility> 



#include <set> 
 
int h, w; 
std::vector<char> field; 
 
 
int num(int x, int y){ 
  return x + y*w; 
} 
 
char get(int x, int y){ 
  if(x < 0 or x >= w)return 'b'; 
  if(y < 0 or y >= h)return 'b'; 
 
  return field[num(x, y)]; 
} 
 
std::vector<char> gen_algorm(int x, int y, std::set<std::pair<int, int>> was){ 
  was.insert({x, y}); 
  std::vector<char> some; 
  bool first = true; 
  if(get(x, y + 1) == '.' and !was.count({x, y + 1})){ 
    std::vector<char> some_now=gen_algorm(x, y + 1, was); 
    if(some_now.size() != 0){ 
      some_now.push_back('U'); 
      if(first or some.size() > some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  if(get(x, y - 1) == '.' and !was.count({x, y - 1})){ 
    std::vector<char> some_now=gen_algorm(x, y - 1, was); 
    if(some_now.size() != 0){ 
      some_now.push_back('D'); 
      if(first or some.size() > some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  if(get(x + 1, y) == '.' and !was.count({x + 1, y})){ 
    std::vector<char> some_now=gen_algorm(x + 1, y, was); 
    if(some_now.size() != 0){ 
      some_now.push_back('R'); 
      if(first or some.size() > some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  if(get(x - 1, y) == '.' and !was.count({x - 1, y})){ 
    std::vector<char> some_now=gen_algorm(x - 1, y, was); 
    if(some_now.size() != 0){ 
      some_now.push_back('L'); 
      if(first or some.size() > some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  if(some.size() != 0)return some; 
  if(get(x, y + 1) == 'E'){ 
    some.push_back('U'); 
    return some; 
  } 
  if(get(x, y - 1) == 'E'){ 



    some.push_back('D'); 
    return some; 
  } 
  if(get(x + 1, y) == 'E'){ 
    some.push_back('R'); 
    return some; 
  } 
  if(get(x - 1, y) == 'E'){ 
    some.push_back('L'); 
    return some; 
  } 
  return some; 
} 
 
std::pair<int, int> find_robot(){ 
  for(int y = 0; y < h; y++){ 
    for(int x = 0; x < w; x++){ 
      //std::cout << x << " "<< y << " " << field[num(x, y)] << std::endl; 
      if(field[num(x, y)] == '@')return {x, y}; 
    } 
  } 
  return {-1, -1}; 
} 
 
 
int main(){ 
 
  std::cin >> w >> h; 
 
  std::vector<char> fd; 
 
  for(int i =0;i < w*h; i++){ 
    char now; 
    std::cin >> now; 
    fd.push_back(now); 
  } 
  for(int y = h - 1; y >= 0; y--){ 
    for(int x = 0; x < w; x++){ 
      field.push_back(fd[num(x, y)]); 
    } 
  } 
 
 
  std::pair<int, int> now_map = find_robot(); 
  //std::cout << now_map.first << " " << now_map.second << std::endl; 
  std::set<std::pair<int, int>> was; 
  auto commands = gen_algorm(now_map.first, now_map.second, was); 
 
  for(int i = commands.size() - 1; i >= 0; i--){ 
    std::cout << commands[i]; 
  } 
  std::cout << std::endl; 
} 
 
 
 --- Solution 48-000006-34206-robo16_031-robo16_031-20160416154659.cpp --- 
#include <iostream> 
#include <vector> 
#include <utility> 
#include <set> 
 
int h, w; 
std::vector<char> field; 
 
 
int num(int x, int y){ 
  return x + y*w; 



} 
 
char get(int x, int y){ 
  if(x < 0 or x >= w)return 'b'; 
  if(y < 0 or y >= h)return 'b'; 
 
  return field[num(x, y)]; 
} 
 
std::vector<char> gen_algorm(int x, int y, std::set<std::pair<int, int>> was){ 
  was.insert({x, y}); 
  std::vector<char> some; 
  bool first = true; 
  if(get(x, y + 1) == '.' and !was.count({x, y + 1})){ 
    std::vector<char> some_now=gen_algorm(x, y + 1, was); 
    if(some_now.size() != 0){ 
      some_now.push_back('U'); 
      if(first or some.size() > some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  if(get(x, y - 1) == '.' and !was.count({x, y - 1})){ 
    std::vector<char> some_now=gen_algorm(x, y - 1, was); 
    if(some_now.size() != 0){ 
      some_now.push_back('D'); 
      if(first or some.size() > some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  if(get(x + 1, y) == '.' and !was.count({x + 1, y})){ 
    std::vector<char> some_now=gen_algorm(x + 1, y, was); 
    if(some_now.size() != 0){ 
      some_now.push_back('R'); 
      if(first or some.size() > some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  if(get(x - 1, y) == '.' and !was.count({x - 1, y})){ 
    std::vector<char> some_now=gen_algorm(x - 1, y, was); 
    if(some_now.size() != 0){ 
      some_now.push_back('L'); 
      if(first or some.size() > some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  if(some.size() != 0)return some; 
  if(get(x, y + 1) == 'E'){ 
    some.push_back('U'); 
    return some; 
  } 
  if(get(x, y - 1) == 'E'){ 
    some.push_back('D'); 
    return some; 
  } 
  if(get(x + 1, y) == 'E'){ 
    some.push_back('R'); 
    return some; 
  } 
  if(get(x - 1, y) == 'E'){ 



    some.push_back('L'); 
    return some; 
  } 
  return some; 
} 
 
std::pair<int, int> find_robot(){ 
  for(int y = 0; y < h; y++){ 
    for(int x = 0; x < w; x++){ 
      //std::cout << x << " "<< y << " " << field[num(x, y)] << std::endl; 
      if(field[num(x, y)] == '@')return {x, y}; 
    } 
  } 
  return {-1, -1}; 
} 
 
 
int main(){ 
 
  std::cin >> w >> h; 
 
  std::vector<char> fd; 
 
  for(int i =0;i < w*h; i++){ 
    char now; 
    std::cin >> now; 
    fd.push_back(now); 
  } 
  for(int y = h - 1; y >= 0; y--){ 
    for(int x = 0; x < w; x++){ 
      field.push_back(fd[num(x, y)]); 
    } 
  } 
 
 
  std::pair<int, int> now_map = find_robot(); 
  //std::cout << now_map.first << " " << now_map.second << std::endl; 
  std::set<std::pair<int, int>> was; 
  auto commands = gen_algorm(now_map.first, now_map.second, was); 
 
  for(int i = commands.size() - 1; i >= 0; i--){ 
    std::cout << commands[i]; 
  } 
  std::cout << std::endl; 
} 
 
 
 --- Solution 48-000009-34206-robo16_031-robo16_031-20160416161118.cpp --- 
#include <iostream> 
#include <vector> 
#include <utility> 
#include <set> 
 
int h, w, t; 
std::vector<char> field; 
 
 
int num(int x, int y){ 
  return x + y*w; 
} 
 
char get(int x, int y){ 
  if(x < 0 or x >= w)return 'b'; 
  if(y < 0 or y >= h)return 'b'; 
 
  return field[num(x, y)]; 
} 



 
std::vector<char> gen_algorm(int x, int y, std::set<std::pair<int, int>> was, int counter){ 
  was.insert({x, y}); 
  std::vector<char> some; 
  bool first = true; 
  if(get(x, y + 1) == '.' and !was.count({x, y + 1})){ 
    std::vector<char> some_now=gen_algorm(x, y + 1, was, counter+1); 
    if(some_now.size() != 0){ 
      some_now.push_back('U'); 
      if(first or some.size() >= some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  if(get(x, y - 1) == '.' and !was.count({x, y - 1})){ 
    std::vector<char> some_now=gen_algorm(x, y - 1, was, counter + 1); 
    if(some_now.size() != 0){ 
      some_now.push_back('D'); 
      if(first or some.size() >= some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  if(get(x + 1, y) == '.' and !was.count({x + 1, y})){ 
    std::vector<char> some_now=gen_algorm(x + 1, y, was, counter + 1); 
    if(some_now.size() != 0){ 
      some_now.push_back('R'); 
      if(first or some.size() >= some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  if(get(x - 1, y) == '.' and !was.count({x - 1, y})){ 
    std::vector<char> some_now=gen_algorm(x - 1, y, was, counter + 1); 
    if(some_now.size() != 0){ 
      some_now.push_back('L'); 
      if(first or some.size() >= some_now.size()){ 
        first = false; 
        some = some_now; 
      } 
    } 
  } 
  std::vector<char> new_some; 
  if(get(x, y + 1) == 'E'){ 
    new_some.push_back('U'); 
    return new_some; 
  } 
  if(get(x, y - 1) == 'E'){ 
    new_some.push_back('D'); 
    return new_some; 
  } 
  if(get(x + 1, y) == 'E'){ 
    new_some.push_back('R'); 
    return new_some; 
  } 
  if(get(x - 1, y) == 'E'){ 
    new_some.push_back('L'); 
    return new_some; 
  } 
  if(new_some.size() != 0)return new_some; 
  return some; 
} 
 
std::pair<int, int> find_robot(){ 



  for(int y = 0; y < h; y++){ 
    for(int x = 0; x < w; x++){ 
      //std::cout << x << " "<< y << " " << field[num(x, y)] << std::endl; 
      if(field[num(x, y)] == '@')return {x, y}; 
    } 
  } 
  return {-1, -1}; 
} 
 
 
int main(){ 
 
  std::cin >> w >> h; 
 
  std::vector<char> fd; 
 
  for(int i =0;i < w*h; i++){ 
    char now; 
    std::cin >> now; 
    fd.push_back(now); 
  } 
  for(int y = h - 1; y >= 0; y--){ 
    for(int x = 0; x < w; x++){ 
      field.push_back(fd[num(x, y)]); 
    } 
  } 
 
 
  std::pair<int, int> now_map = find_robot(); 
  //std::cout << now_map.first << " " << now_map.second << std::endl; 
  std::set<std::pair<int, int>> was; 
  auto commands = gen_algorm(now_map.first, now_map.second, was, 1); 
 
  for(int i = commands.size() - 1; i >= 0; i--){ 
    std::cout << commands[i]; 
  } 
  std::cout << std::endl; 
} 
 
 
 
 --- Task B --- 
 
 --- Solution 48-000015-34206-robo16_031-robo16_031-20160416165000.cpp --- 
#include <iostream> 
#include <vector> 
#include <utility> 
#include <set> 
 
int h, w, t; 
std::vector<char> field; 
 
 
int num(int x, int y){ 
  return x + y*w; 
} 
 
char get(int x, int y){ 
  if(x < 0 or x >= w)return 'b'; 
  if(y < 0 or y >= h)return 'b'; 
 
  return field[num(x, y)]; 
} 
std::vector<char> gen_algorm(int , int, std::set<std::pair<int, int>>, int); 
 
std::vector<char> get_some(int x, int y, std::set<std::pair<int, int>> was, int counter, char to){ 
  char now = get(x, y); 



  if(now == 'E')return {to}; 
  if((now != '.' and now != 'O' and now != 'C') or was.count({x, y}))return {}; 
  std::vector<char> some; 
 
  int second_counter = t  - counter % t ; 
 
  if(now == '.') some = gen_algorm(x, y, was, counter + 1); 
  else some = gen_algorm(x, y, was, counter + 1 + second_counter); 
  if(some.size() == 0)return {}; 
  some.push_back(to); 
  if(now =='O' or now == 'C')for(int i = 0; i < second_counter; i++){some.push_back('S');} 
 
 
  return some; 
} 
 
 
std::vector<char> gen_algorm(int x, int y, std::set<std::pair<int, int>> was, int counter){ 
  was.insert({x, y}); 
  bool first = true; 
  std::vector<char> best; 
  std::vector<char> now; 
 
  now = get_some(x, y + 1, was, counter, 'U'); 
  if((first or now.size() < best.size()) and now.size() != 0){ 
    first = false; 
    best = now; 
  } 
  now = get_some(x, y - 1, was, counter, 'D'); 
  if((first or now.size() < best.size()) and now.size() != 0){ 
    first = false; 
    best = now; 
  } 
  now = get_some(x + 1, y, was, counter, 'R'); 
  if((first or now.size() < best.size()) and now.size() != 0){ 
    first = false; 
    best = now; 
  } 
  now = get_some(x - 1, y, was, counter, 'L'); 
  if((first or now.size() < best.size()) and now.size() != 0){ 
    first = false; 
    best = now; 
  } 
  return best; 
} 
 
std::pair<int, int> find_robot(){ 
  for(int y = 0; y < h; y++){ 
    for(int x = 0; x < w; x++){ 
      //std::cout << x << " "<< y << " " << field[num(x, y)] << std::endl; 
      if(field[num(x, y)] == '@')return {x, y}; 
    } 
  } 
  return {-1, -1}; 
} 
 
 
int main(){ 
 
  std::cin >> w >> h >> t; 
 
  std::vector<char> fd; 
 
  for(int i =0;i < w*h; i++){ 
    char now; 
    std::cin >> now; 
    fd.push_back(now); 



  } 
  for(int y = h - 1; y >= 0; y--){ 
    for(int x = 0; x < w; x++){ 
      field.push_back(fd[num(x, y)]); 
    } 
  } 
 
 
  std::pair<int, int> now_map = find_robot(); 
  //std::cout << now_map.first << " " << now_map.second << std::endl; 
  std::set<std::pair<int, int>> was; 
  auto commands = gen_algorm(now_map.first, now_map.second, was, 0); 
 
  for(int i = commands.size() - 1; i >= 0; i--){ 
    std::cout << commands[i]; 
  } 
  std::cout << std::endl; 
} 
 


